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*Division: — is equal to — ; 5x divided 5y is — however one is
= ¥y ¥
always imaginary before any variable and no need to write in the
answer.

2. Combining (Adding or Subtracting) terms with different signs:

& 2% —x =X the answer is "x” and carries the positive sign because "2" is
higher than “1°. Take note that 1 is always imaginary before any variable
in a certain expression. See "Rule of Signs” at the end of this topic, last
page.

& By — 10x = -bx ; the answer is “—5x" and cames the negative sign
because “10" is higher than "5". See “Rule of Signs" at the end of this
topic, last page.

4 By — 2y = 3y; the answer is “3y" and carmies the positive sign e “5"
is higher than *2". See “Rule of Signs” at the en[l\uf mnse@

3. Multiplication of Algebraic Emreswg"esa

& (T ‘i%x 9} Tlx ﬁt ‘Splyr the constant value “7 & 107
e&dﬂéx (@ém ng two or more terms with different
( riable 'uralue
-ﬁ- (Tx)10x) = {?]{1!]} (®)(x) = TOx2
(TyIEY) = (7)5B) (yvily) = 353;2 . multiplying same variable value will he
having a degree as shown below:

)= x1 = W)=y =y
(0)0%) = M = 5 W) =y =y
0% = %278 = X et (' )y*) =y =y et

< Multiplying different signs, (7x) —10y) = —70xy; multiplying different
signs, the answer camies “—" negative sign always.

More Examples:

(Tx) (=7%) = (—49)(x™ ™ = —49°  (Ty) (-Ty) = (—49)y"*") = 49y
(=3x) (4y) = (H12)x)y) = —12xy  (—4x) (2y) = (-B)(x){y) = —8xy
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